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1, Peter is a ___ person : he is polite, kind, and always shows respect for
others.
(A) courteous (B) curious (C) nervous (D) serious
2, The child was__. He just sat there and wait for something to happen.
(A) passive (B) active (C) aggressive (D) achieve
3, Marry got home earlier than usual, because the traffic in the city was

today.
(A) light (B) heavy (C) weak (D) smart
4, This TV program will____ young viewers’ understanding of the changing
world.
(A) broaden (B)soften (C) tighten (D) lengthen
b, An average person ____ Sleeps eight hours a day.

(A) normally (B) partially (C) mutually (D) seemingly
6, The man was severely injured in a car accident yesterday and die ___
afterwards
(A) shortly (B) hardly (C) easily (D) mostly
7, All the flights to and from Taipei were____ because of the heavy

thunderstorm.
(A) cancelled (B) advised (C) exploded (D) defended
8, The two countries are trying to __ their relationships between them.

(d) intensify (B) personify (C) classify (D) signify
9, Eating dessert before meals may kill your___.
(A) appetjte (B) attitude (C) behavior (D) mind
10, Helen____ with anger when she saw her boyfriend kissing an attractive
girl. A
(A) exploded (B) collided (C) extended (D) denied
11, The nurse took the ___ of all the patients.
(A) temperatures (B) tempers (C) temptations (D) templates
12, It was a great___ to me when I heard my good friend passed out.
(A) shock(B) case(C) phase(D) chase
13, Living in such a highly___ environment, you have to arm yourself with
as much knowledge as you can. '
(A) competitive(B) selective (C) reluctant(D) tolerant
14, The young couple decided to____ their wedding until all the details were
well handled.
(A) postpone(B) propose(C) proceed(D) program
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15, The woman told the whole truth to her lawyer without any because
he is the only person she could rely on.
(A) reservation(B) conservation(C) combination(D) foundation
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1, Bill is ____ because he broke the classroom windows this morning.
(A in trouble (B) in vain (C) in use (D) in turn

2, Most of our classmates are ___ taking a trip to Kenting National Park.
(A) in favor of(B) in place of(C) in honor of(D) in search of

3, This story, __ the whole, is very interesting.
(A) on (B) in (C) at(D) under

4, Kelvin was punished because he ____the rule,
(A) against(B) followed(C) was in (D) abided by

9, lle stood by the window gazing___ his son playing in the yard.
(A) at (B) in (C) on (D) by

6,Elizabath is fond__ sweet food.
(A) of(B) under (C) down (D) on

7,Please walk faster and keep up__ us.
(A) with (B) on (C) from (D) of

8.He was late to the station. __ a result ,he missed the train.
(A) as (B) with (C) in (D) by

9. Anny burst into tears___ because her teacher punished her in front of
the whole class.
(A) on the spot(B) on the side (C) on the mark(D) on the edge

10, His plan___ in failure though it had been supported by many people.
(A) ended up(B) put away(C) brought about(D) held on



